Eureka Math — Module 1 W

Lesson 10

Objective:

| can subtract decimals using place value strategies and the standard algorithm.
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7 hundreds 8 hundredths — 4 hundredths = 7 hundreds 4 hundredths = 700.04

tenths

itlmumn:lths

Standard Algorithm
(Traditional Method)

700.08
- 0.04

700.04

Q000
000 hundredths
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41.84-0.9 =

“CASH IT IN”

Standard Algorithm
(Trad|t| | Method)

4‘984
- 0.90
40.94

|thou=sandths

® 0 ® o |hundredths
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Standard Algorithm

(Traditional Method)

7.148 - 0.07

THE DECIMALS 7%8

STEP 2 — FILL IN THE EMPTY - 00070
PLACES WITH ZEROS
7.078

STEP 3 — PLACE THE
DECIMAL IN THE ANSWER
BEFORE ADDING or
SUBTRACTING
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Your tasks:

1. Watch Lesson 10 Video — Complete Ed-Puzzle quiz questions
2. Complete Lesson 10 Problem Set (Google Classroom)

You have a lot to do — Don’t waste time!



